
Power needs control

981000507 1/1B16.08

SOLID GSX Enclosure system

PM X-Y PER-A

Mounting instructionsGB

Montage anleitungDE

Navodilo za montaźoSI

Instrukcje montażuPL

Upute za montaźuHR

Montaźni návodCZ

Navod na montaźSK

Szerelesi utmutatoHU

Montavimo instrukcijaLT

Инструкция за монтажRU

Montāžas instrukcijaLV

PaigaldusjuhendEST

1

2

3

4

5

6

7

8

9

10

11

12

1

2

3

4

5

6

7

8

9

10

11

12

1

2

3

4

5

6

7

8

9

10

11

12

1

2

3

4

5

6

7

8

9

10

11

12

75
15
0

Type X Y

PM 1-1 PER-A 199,7 50

PM 1-2 PER-A 199,7 200

PM 1-3 PER-A 199,7 350

PM 1-4 PER-A 199,7 500

PM 2-1 PER-A 449,7 50

PM 2-2 PER-A 449,7 200

PM 2-3 PER-A 449,7 350

PM 2-4 PER-A 449,7 500

PM 3-1 PER-A 699,7 50

PM 3-2 PER-A 699,7 200

PM 3-3 PER-A 699,7 350

PM 3-4 PER-A 699,7 500

Y

X

1

2

3

4

WP-A

No. Type ETI Name Pcs.

1 LG-V Support 4

2 AST 4.8x9.5 Tapping screw 8

3 AW-RE 5 Washer M5 DIN9021 Zn 4

4 AS-C 5x10 Screw M5x10 DIN7985 Zn 4

Screwdriver PH2
(Wkrętak PH2)

AS-C 5x10 2,2-3,5 Nm

AST 4.8x9.5 3,0-3,4 Nm

13

14

15

16

17

18

13

14

15

16

17

18

13

14

15

16

17

18

13

14

15

16

17

18

WP-A

1

2

3

4

No. Type ETI Name Pcs.

1 LG-V5 Support 4

2 AST 4.8x9.5 Tapping screw 8

3 AW-RE 5 Washer M5 DIN9021 Zn 4

4 AS-C 5x10 Screw M5x10 DIN7985 Zn 4

1
2

1
2

25

8

9,5

9,
5

Hole dimension
(Wymiary otworu)


